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Name the property that justiﬁes each statement.

l) I[fx+3=10,thenx= 7.7

(32) 18302x- 10)= 11, then 6x - 30 = 11, Qe pact
{3,3) If12-x=y, theny=12-x, s
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| "“~Find the measure of the given angle
J) If wx~ 10, then X = 20

Buinon  fwp o @cdamaly {\6) msSEF = 60°, msDEF = 14x + 8,
oL " and msDES = 9x + 8. Find mDES.
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A 10) _ ) Find the value of x that makes lines u and v
2 ax-C parallel.
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Solve for x. Each figure is a parallelogram.
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Find the measurement indicated in each parallelogram.
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M Ov=5x+3
Find 70




Write the slope-mtercept form of the equation with the given information.

v Yeo¥e  f=f -3 b
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Find the midpoint and distance between each pair of points. 7
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List all information given by the marks on the diagram.
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Name the relationship: complementary, linear pair, or vertical
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Find the value of x
(}2 1) Classify each triangle by its sides (scalene,
L isosceles, or equilateral) as well as by its angles
txs T (acute, obtuse, or right).
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Write a statement that indicates that the triangles in each pair are congruent.

6 23)

Find the value of x.

~24) Mark the angles and sides of each pair of triangles
iﬁ; to indicate that they are congruent.

{:ﬁ 25) ASRQ = ASJK

State if the two triangles are congruent. If they are, state how you know.
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Find the measure of one exterior angle in each regular polygon. Round your answer to the nearest tenth if
necessary. o B
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Find the lengih of the midsegment of each

trapezoid.
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_ Solve for x. Each figure is a trapezoid. g’
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Find the measure of one interior angle in each polygon. Round your answer to the nearest tenth if
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The following triangles are similar. Fill inthe blank

(order is important). Find the scale factor.
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State if the triangles in each pair are similar. If so,
state how you know they are similar and complete
=_ the similarity statement.
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Did you check your answers to the Skills Part?



Geometry Semester 1 Exam Review Applications

UNIT 1: Tools for Geometry

1. Mr.Kelly is really good at flow charts. Help him answer the following: B
Mark the picture with the following.
a. AB=BC

b. BF is the angle bisector of ZABC
¢. <£BFD is aright angle

d. F is the midpoint of DE

Use the info to find the following.
e. Use letters to name £1. .
2 ABF

f. Given AB = 5x + 3 and BC = 3x + 13, find xand AB
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UNIT 2: Reasoning and Proof

2. Use the diagram to complete the proof that m£ACD = 130 by filling in the missing steps.

Statements Reasons
A. mLACB = 6x; mMLACD = Fx + 40 A Civen
B. mZLACRB + m/ZACD = 1¥0 |B. Linear Pairs are Su.ppte.men&arj
C. bx + ¥x + 40 = 1¥0 C. _SobyizTyTind
D. 14-x + 40 = 1¥0 D. x“v*g@g};yg‘,é LaRE e
E. 14x = 140 E. Subtraction Property of Equality
F. x = 10 Foo Davsion ,E}e,%%vg g;gg“ L0 sy
G. msBCE = ¥(10) + 40 = 120|G. ulaia Uiy




UNIT 3: Parallel Lines

3. Mr. Kelly is trying to make some cash for his favorite hobby, collecting Barbie dolls. After one week he

) \\ still owes his wife one dollar but after three weeks he has now five dollars.
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'Y a) What’s Mr. Kgllyé’s slope (rate of change) for this situation? b
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d) How much money would Mr. K}glly have after 2 months? ‘
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4. Fill in the blanks on the proof below. 10
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LK || GM ‘z %
b
\ ;
. i
Prove: ALGM = AMGL G M
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UNIT 5: Quadrila

terals

5. The coordinates of the vertices of quadrilateral BRUS are B(-8, 1}, R(0, 0), U(-1, -5) and S(-9, -4).

a. Graph and label BRUS. (Use a straight edge and label the coordinates of each point!)
b. Use the slope formula to determine if BRUS is a parallelogram. m = % = i—z_—il
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Is BRUS a parallelogram? u[-:’z
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UNIT 6: Similar Figures
6. Find the height of the tree in the following:
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